N of reco track vs pT

N of associated (recoToSim) tracks vs pT.

N of associated (recoToSim) duplicate tracks vs pT

1%} 9] %] [%]
x x X X
Q Q [} Q
g 8 s g
S g 2
£ K 8107
a
=]
°
1072
10°°
il 8 2 8 b
s 3 3 3
o4 14 4 14
- B rE T (O R T T EEE PP PP
*To* 1 1I0 7 2 To* 1I0 7 ? 10% 1 1I0 7 ?
trag‘lg P, (Ge\;')0 trag‘l? P, (Ge\}f) tra&l? P, (Ge\}f)
mYal \V/ AW/aYaYal mYalaYaValaVaVaVal Lo : O s ) 1 RO
—— —VEEHT= = —HIRE[INGW
N of reco track vs  ———— —V I— T— — E W 6%_
1%} 9] %] [%]
X - e .- X F--- - X X
Q - . .. Q - - [} Q
g 8 | . s I
S g 2
2102 8 g107
s
10F S
______ 1072
1 : SR HE
9 N T i i 9 9 R i -
s : 1 3 s 1 :
3 l '|’|’|‘|'|'|'EH|'|’|‘|'|'|’|‘| '|'|‘|'|'|’|‘|'|'|’E’|' ’|’|’|’ - 3 '|’|’ '|'|’E’l’l’l’l‘l’l’ll‘l’i]’l‘l’l]’ B :
3= 1 0 1 2 3 083 =2 1 0 3 0BFT= 1 0 23 P S (S T R
track n track n track n track n
N of reco track vs phi N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|
1%} 9] %] [%]
x . < X X
Q N Q [} Q
g oo rrereuneee Pttt et 8 s g
g 2 ]
E 8 8107
=
3
°
1072
107
2 Y 8 2 | 8 bl
s 3 s 1 3
o 14 14 A 14
1 1 1 055
0,32 1 1 2 3 = ! 2 3 5= 1 0 1 2 3
track ¢ track ¢@ track @




	Contents
	Page 1


